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17. 1. Ra6+ (Kxab) 2. Nc5+ (Ka5) 3. ba#. 1. Re5+ is incorrect becausc of 1. ... Bxe5.

18. 1. Qxf7+ (Rxf7) 2. Ng6+ (Kg8) 3. Rh&#

19. 1. Re8+ (Rxe8) 2. Nf7+ (Kg8) 3. Nh6+ (Kh8) 4. Qg8+ (Rxg8) 5. Nf7# (Moves 1. and 2. may be
interchanged.)
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(1, 1, 10); (-2, 7. -2): (-12/5, 21/4, -15/7)
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. =, Robert Recorde (Many schools wrote out the quotation after that, and this was also acceptable)
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. No, answers may vary. Liouville's constant is a transcendental (thus irrational) that contains only 1s



and Os. It is defined as 210—"! = .110001000000006000000001....
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46.

47. The acceptable answer choices are A, B, C, and D, since with the information given, NONE of the
numbers given are roots. The question is poorly worded because the full polynomial is given, without
using variable coefficients. It doesn't specify to use the rational root theorem either.
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50. (0,0); (8, 4); (-1/2, 1/2); (-1/2, -1/2); (-1/8, -1/16)



Page 1 of 1

L VBVAL+T VA -3
NN

T =

hitp://www.numberempire.com/cgi-bin/render2.cgi?%5Cnocache%20%3SCLARGE%20%... 11/3/2009



Page 1 of 1

\/3\/_+7 V41 -3
T VaVa -3 2

http://www.numberempire.com/cgi-bin/render2.cgi?%5Cnocache%20%5CLARGE%20%...  11/3/2009



Fall Interschool Answer Shee\
2

School Name: MiQimi SQY}[ E;S §r. HQh

L 251249 46.
2 2592 26._| | 1S 2]|2(4|w
72,723
3. {p.ge NI 27. {!IIOE’{"Z EPE 2 Sl w4z l?
A% ) n3524538 Ll ol 152
2 O 20 =90 for N2 el EAL 5 Skl
s 1 30 10,03 ull CAEIE =1L
6. 19 3. "y 512{4]b] 5
7. Pa= | 32. 8U NCHC LS a. Land P
slod 0 mEEE 2O el FOf explanaion,
0. O 30 (OO sce_aftacied.
10._| sl At L atknn 48 34
11. 20xA ggﬂg& 3. a9. 417 £€Ct
12a, ﬂ"5/5 114 ]9 |. 50 (0, ok )(_‘E:’;H)
S;mpﬁgg ?:gglc G55 Cle ) )
419 w4 51
(%r'g-t-l i)/“x n o RERE =
15 LI5S Z|! |4 4 B
16 FUEL0 ! w|A N

EQw+ NS+

171§xgb LS 3 L7# 37 StronQ i
xf 3+ \ 2
18.1,€xfF 2 Eé 3. Rh84F 38. h—\

NEFT o+

19.1. KB 2, BXEE
Nhott g8t  NFIHF

39,
=I P.:()A:Z)N:%l—_-B
L=9

S
H:Lﬁ =

G=2E=%0=9

3ENWE 4. RXxQE 5
20. A\ G&F
2. LSOOC NPUWTOO
2. See. attocned

23a. 18( ?( OCX )9( )QSO :
AN N IZDNn 55

23b. =

24. 20300501 103

0. OTOCLOOO).. -

l41'. l?)/2.

42, Vlf)

43, 'Ez'?:" (’\T’ ] \

a1 9 200

5. 0.9 me+ers

\1\-\'\\
AN
2. A= i\Ej CI=RIORIREA Y]
W=

53. ar

saa. 4O50F322850A
sab | 395900267 2258210
55. E

This sheet is to be postmarked by November 10 to:
FAMAT Interschool Test
105 NW 20" Drive
Gainesville, FL 32603




5. 2610 SAW eigint and e el
TOF #C 1GHTY WO bbfu(lnq O iy
The ot £S5 400 TGty

Ard ook guitt Lnsighty
T+ wont surely ke itGving A Wil

-3 The BUHEIFN EFFECH FIAGHALS in NOFUIC



) (T,

() (AR

F ACCOAING O FAMAT YUITS, i 4ntre ex18+S vt Hhan one ansucy
From € answer Cneices, mCIUChnq oMt answer 1S in G mare

SIMPUHT ) an anGney AN WY oY Vi mGreeCl Gig
CLrrecH .



¢
AU \
8 Oscan
1 o

WA

l‘h/ L\&‘\M \\ll

o (Comn

2 N\

\ Mawe .

LETC

w/
{

T

[ Cawnen )

35

!
\
\
My
\4
e
| Bas. !
O AV f
t



51.

"h-.__‘.
™
™~

SNER
AN
\\

=1
~|
I~

A\

A

52.{1,4,6,7,10, 11, 13, 16} or {2, 3,5, 8,9, 12, 14, 15}
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. These answers and other equivalents were



